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1 13 3 RE R S47.3 3,651 H16 2R 0.300 H20 0.76
2 S— 21 3 wE R $51.3 1482  H16 2R 0.500 H20 0.81
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3 28 3 ®wE R S51.3 41 H21 2R 1.020 =
4 24 2 HRERE S S53.3 944 H21 HEE 0.757 F=
5 16 3 RE R S57.3 2,988 H15 2R 0.860 =
6 — 10 3 wE R $43.3 1,235 H15 2R 0.300 H19 0.78
INFRR
7 24 3 ®wE R S46.3 797 H15 2RECHR 0.390 H19 0.86
8 14 1 HREE S S55.2 939 H21 HEE 0.481 H24 1.01
9 4 2 RE R S51.3 1,058 H17 1R 1.600 =
10 8 2 BE R S53.2 326 H21 2R 1.350 =
11 11 2 KeE R S56.3 166 H21 2R 0.940 =
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12 1 2 BE R $50.3 2,057 H21 2RECHR 0.62 H23 0.79
13 7 2 ReE R S52.3 2,105 H21 2R 0.69 H23 0.76
14 10 1 HERE S S54.3 944 H11 HEE 0.470 H14 0.873
15 1 3 ReE R S55.3 1,756 H 21 2R 0.84 =
16 9 3 BKE R S55.3 2,313 H 21 2REZMR 0.67 H22 0.81
17 |REF/NER 6 3 RE R S57.2 645 H 21 2R 0.79 =
18 10 2 BE R H17.3 634 AL =
19 4 1 HELE S S56.3 941 H21 HEE 0.406 H24 0.827
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21 N 21 4 R S57.3 1,235 A =
E &8s -
22 27 2 S $63.3 1,724 EEE =
23 7 S H24.3 389 EE =
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25 29 2 R S51.9 452 H20 2R 0.35 H22 0.78
26 N 12 4 R S49.8 2,786 H20 2R 0.24 H22 0.78
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27 27 4 R S60.1 367 EE =
28 11 2 S S48.3 1,345 H21 HEE 0.31 H23 0.91
29 22 S S56.3 397 H23 HEE 0.74 £




